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Instruction for the Question Nos. 26 to 30 :
Read the following passage carefully and answer the following questions that follow:

" We in India have our own special problems. NO One can deny that some of them are of a serious nature
and must be attacked with vigour and determination, Our national objectives have been defined clearly.
We aims at providing every citizen with the basi¢ necessities and complete freedom to lead a life of his or
her own choice. We aim to create a democratic society, strong and free in which every citizen, irrespective
of his religious beliefs, will occupy an equal and honoured place, and be given full and equal opportunities
for growth and service. We aim at ending untouchability and doing away with the present inequalities of
status and wealth. We are opposed to the concentration of wealth in a few. hands. '
26. This passage could mo_st probably be a part of -
(@) APersonal Letter B h (b)  The Indian Constitution

(c) ASpeech ' __ \_}\/ A book on Polltlcal Science

27. Ppick out the wrong statement - . - ' :
i o <,
(@) The problems of Indians are like anyone elsewo/me of our problems can be handled only by
0« stpong people. ‘ﬁ

(©) Our goal is to build an Indian free from(d)/There is no uncertainty about our national

i
economic exploitation. E objectives. ‘
28. What is the synonym of the phrasal verb ‘doing away with’ used in the passage?
(@) create ) abolish '
() doing with _ (d) remain forever
28. According to the author our national objective is to -
(@) end economic prosperity in the country. jﬁ_r promote individual freed_om and prosperity.
() favour the concentration of wealth in aﬁéw(d) create unequal opportunities for all.
' )]
hands. L0
- - N .
30. The underline word in the passage ‘vigour’ means -
(@)  physical tension (b) -loose temper
C) force : (d) forcefulness of language

31. Choose the correct word which is opposite jn m%ning of the given word.

Regede s .
5 ? o
a) Advance o Forward
(¢) Rush ' . (d)  Approach

32. Choose the correct one which best expressag the meaning of the phrase of the underlined words -
| am like a cog in the wheel of this company ‘

(a) an unimportant person (b)  the least paid employee
(c) atechnician - : M’I important person
—— e
f 16
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33. Fill in the blank with the appropriate word given be|ow.

u‘?&ir India...............concessional tickets these days,
is issuing - . (b) issues

Al St e e s B

L P A,

By Sy ]

7 (©)  have issued . i o . 1) desiies
;vi : . 5

. 34 Select the correct indirect speech of the given Serﬁence-—

| . sty

1 | said to him, “Let us go out for a walk.” CH

. '
(@) 1suggested to him that we should go out f&6r3 (b)

| requested him that we should go out for a
_walk.

-~ walk.

PR R o R O

() 1told him that they should go out for awalk. (d) | suggested him that they should go out for a

: 35." Which of the following is correctly punctuated? 3:

What a beautiful painting did you paint it. -
‘_l .~ LV
@ Whata beautiful painting -did you paint it! R} What a beautiful painting! Did you paint it?

(©)  Whata beautiful painting did you paintit. *M (d) what a beautlful painting: did you paint it?
Transform the following simple sentence into complex sentence - . _

He admitted his mistake. \/ .
(@) ° He admitted that he was makmg a mistake. ) He édmit{ed that he had made a mistake.

(©)  He admitted that he was mistaken.

36.

Sl ——

(d) He admitted to making a mistake.
37 Find out the misspelt word - : ]

} (@) reign \E;)/believe
(€) decieve - seize

Change the voice and select the correct passive voice from the given options -

2501144

38.

S one gave her bull dog.
hﬁ‘ﬁ bull dog was given to her. (b)  She has been given a bull dog.
b}/;he is being given a bull dog by someone. (d)  She was given a bull dog.
8. Consider the following statément and choose the correct option -

The Dash is used - s
() To ipdicate an abrupt stop or change of thought

resume a scattered subject

2501144

Only(l) ' (6} only ()
() Both (1) and (I (@) Neither (1) nor (1)
40. Choose the correct word which expresses the meaning of the underlined word of the sentence given
below - .
M[;e(epa’k has a penchant for fine poetry,
Desire | (b)  Bias
(©) Liking | @) Training

e m——
DRI | Page 5016 ~ TR
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42.

equal to -
(a) 114 (b) 100
(c) 112 (d) 115

There is a clock, that is 3 minutes late on Sunday
at 2 p.m. and it is 5 minutes fast on Tuesday on
2 p.m., when did the clock show the right time?
(a) Monday 8 a.m. (b) Tuesday 2 a.m.

(¢) Tuesday6a.m. ~ (d) Monday 10 a.m.

43. |f in any code language, LC is written as 6 and TE
is written as 10, then what will be the code of PI}
in the same code language?

@7 (b)gz | /
© 8 Ve

4. If the radius of a cylindgr is increased by 25%
then by how much percgat the heightmust be
reduced, so that the \ mw’fﬁalinder
remains same? / L
(@) 58 (b) 36 :
(©) 42 (d) 62 - A5

45. Which of the following is determined with the
help of histogram? :
(@) Median (b) Mode
(c) Harmonicmean  (d) Arithmetic mean

46. Choose the set of numbers from the alternatives
which is similar to the set (6, 36, 63) -
(@) (11, 111, 84) (b) (94, 44, 5)
() (8, 64, 46) (d) (7,49, 98)

47. If two dogs start running in opposite directions
on a circular path of diameter 7 m with the speed
2.5 m/sec. and 3 m/sec., then how long will they
take to be at maximum distance?

(2) 1 second (b) 2 second
(c) 3 second (d) 4 second

48. I a subject attempts to solve a problem on the
basis of his past experience, it is called -
(@) Transfer effect (b) Confirmation bias
(c) Mental set (d) None of thesa

49. Who has said, ‘Decision making nyolves
evaluating alternatives and making chojces
among them.’?

(@) Rathus (b) Matlin
() Baron (d) Santrock

[n 7 141 15821012
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%0. choose the number pair/group which is different 50. gj FH /YR B G o G W AT B —
- from others - |

(a) 18:73 (b) 8:25 : ' ) 18:73 (b) 8:25
(c) 15:46 o d) 22:67 i, (c) 15:46 (d) 22:67
51. If a+b_=§+§;'t'heh the value ofa2'+b21s-_ 51 A a+b= §.+E_ o a2+ b2 HTHE S —
(@ 2 ‘ ®) 1 | * T P
@8 (@ o0 - 8 @0
52. If X men complete a work in 40 days and afer w X ISR T B B 40 R RN A &
‘adding 5 extra men 10 days are saved, thef 3)) ‘/ 3R 5 fRiRaT amed M ¥ 10 fEAT ) 999
men will complete this work in - Bl B, a1 30 aeW 39 B BY ORT T —
~ (a) 10 days , (b) 40 days : (@) 10T (b) 40 =7 &
- (¢) 30 days ~ (d) 20 days o (©) 30 R= % \.940&7{7 i
53. A and B are brother and sister respectively. Cis 53. A o B a9 g AR 957 &1 ¢, A BT R, D,
father of A; D is sister of C and E is mother of D, CH 989 3R E D?f?f A 81 a1 B, E Y 59 R
then howis Brelatedto E? i iR 37 ’ - !
(8) Grand daughter - (b) Great Grand £s b y '
X - - daughter ; arft - (b)‘ Ll
(€) Aunt (d) Daughter ) AR () <
5% Atrain of length 140 m is running at a speed 40 #iex ol Yot 60 &AL /T @ are
60 km/hr and a cat is running in the sam A S E 2 R Uw Qeeh s R ¥ Yo
direction parallel to the train at a speed of o FHAR 18 5L /ave & ae ¥ e <&
18 km/hr. The train will cross the cat in - "R Yo faeeh B UR @R oy — :
() 11 seconds (b) 12§seconds ' ' (@) 11 ¥ve # (6) 12%'@@"@ L
(¢) 12 seconds (d) 10 seconds 12 9o H (@) 10 IBvs F
-95. Algorithm is a type of -- 55 Uh PR & —
(@) Rule of thumb ~(b) Mechanical solution frm 1 () A HHE BT
' N —red faweer (d) o iR @
~ () Means-end analysis (d) Heuristics b - -
%6 Which one of the following methods of problems 56 T waRE @ fr=fRas AT § o
solving gives guarantee-of success? _ . U Ay awerdr am @ <o 82
(@) Heuristics method (b) Planning method - (@) wa: oy fafey Ao fafey
(¢) Algorithms method (d) Backward method (©) TemRem Ay (d) weered fafY
7. Statement : College students should be 57 BT : el @ BTAI B ISHIE TR §
' restricted from participating in T ol ¥ ufERa far s =iy )
olitical activities. - e o A
Argument ; (::; Yés, college students should T ()&, Fiersr & BT B oAt WETE W e
: concentrate on studies, 3T =fRY |
() Yes, colleges are becoming battle | (1) i, Piorar Yreifae gal © 1w S &1
ground for political parties, : ' ;
Select the correct answer -p ’ e W Gﬂ Al
- () Only argument|is (b) Only argument |1 is WOl WTR o w awN -
strong strong (@) daer e | waw ¥ (b) Daer 7@ || vET
(©) Neither Inor Ilis  (d) Both | and Il are \‘9'??1??1-:# | 3R 4 11 (d) @1 199 Il yaet &
strong strong RER I
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5. Which one of the following is not used by the

people as a method of problem solving?
(b) Functional Fixedness

(d) Heuristics

(a) Trial and Error’
(c) Algorithms
59.
bamet_m communication?
(a) Inattention (b) Bodily expressed
™ message
(c) Distrust in ~ (d) Premature

communication evaluation

60. Given below are two statements, one is labelled
as ass%mn (A) and other as reason (R) —
Assertctgn (A) - Clarity of commumcat:o_n is

lci\j'i essential for effective
communication process.

Reason (R) — Because adequacy and timing is not ' _

essential for effective
- communication process.

Select @rrect answer using code given below -
(@) Botfi(A) and (R) are (b) (A)is false but (R) is -

tru%nd (R) is ‘

corréct explanation

of (A) .
(c) Both (A) and (R) are (d) (A)is true but (R) is

true but (R) is not false

oox%ct explanatlon

of (A«—)

61. ShyamfF friend of Ram. Pointing to Manls

-true

Shyam asked Ram, who is he? Ram said, * "His son
is my son’s uncle”, Manish is related to Rap, a5 -

(a) Brother (b) Father

-

Whlchgne of the following is not a psychologlcal ( 59.
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(A) T & feg (R)
Tord &

() g (b
(¢) Grandfather (d) Father-in-lay (c) =Tar @
62. Which one of the following years will 62, oy 3 |
ave the TN Y e 9 dotew
same calender as of 20097 P s @ ¥ 2009 e
(a) 2015 (b) 2016 \,m{j:l’; ") 20
(c) 2017 (d) 2014 () 2017 d) 20-16
14
S — SRR
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63 Arrange the  following  elements  of
communication process in correct sequence —
(1) Source
(2) Channel

(3) Receiver
" (4) Message

(5) Feedback

(6) Noise

@ 1,2,3,4,5 6%
(€) 1,3,4,2,6,5

Assertion (A) -

© (b) 4,5¢6,1,2,3 &
M, 3,6,5

Interpersonal attraction is a part

of social interaction.

Reason (R) — It is necessary for survival.

(a) (A)is true but (R) is (D) (A) is false but (R) is
false true

(c) Both (R) and (A) are (d) Both (R) and (A) are
true but (R) is not true and (R) is
correct explanation correct explanation
of (A) of (A)

If on 31t March, 2008 is Monday, then what day

shall be on 31% March, 2011?

(@) Saturday (b) Sunday

(¢) Thursday (d) Tuesday

Functional fixedness produces ...............

problem solving process.

(8) Partial facilitation  (b) Blockmg :

(c) No effect (d) Facilitation

Select one alternative from the following, which

is not a way of dealing with rumours -

(2) Use of reliable (b) Reduction of causes
sources

(¢) Providing facts (d) Concealment of fact
from leaders of

community
68.

natural numbers, then the sum of its digits.is -
(@9 (b) 18
(©) No such number  (d) 10

exists

89. Find the correct alternative from the following -

Glasses : ? : : Bicycle : Unicycle
(@) Mirror - (b) Face
(¢) Monocle (d) Pedal

If both the square root and the cube root of a
three digit natural number belongs to the set of

[D:2-24] 153102
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63, o WP & PreAfiRaa ddl 1 wE H9 H
amﬁsmfi?fﬁm{*
(1) A
(2) FTerH.
(3) WTTapelf
(4) e
(5) wirgfe
(6) TR
(@) 1,2,3,4,5,6 (b) 4,5,6,1,2,3
(© 1,3,4,2,6,5 (d) 1,4,2,3,6,5
64. aifper (A)— Sdafdad ATHTT HHISTD
3afhar &1 T 9T 2 |
)— U STRONAAT ¥F MATTD 2 |
(A)wc & faeg (R) (B) (A)ﬂgﬁ%ﬁﬁ(ﬂ)

2501144

T~ (0 (R) 3R (A)SFT  (d) (R) AR (A) EHI

£ T € fb<g (R), (A) G € 3R (R), (A)

N P e ARAT B P LI AT HRal
. PRaT g

65. zfy 31 W, 2008 P AHEAR 2, ﬁ‘r311=ni'x 2011

“(a) (b) 3fER
- )
J66. gepraice ReRd THRIT A WHH H oo
> I FRA |
& (@) onfe HerdT T

() P gTT TEI (d) Wermar
67. W@aﬁmﬁ%ﬁsﬁwﬁmaﬁgﬁq
- Sl J%ATE B GeAAT BT AADT A B —
< (@ fzaw iy Sl 1 (b) SR P BH Bl
S men e e il
é (€) e SueTer TR TR & Rl |
Py ey o

68. Afe farfy i1 aint arell Wi W @ e
T O qF1 & Wihfoe SERl @ qHed $
ey g, o) e @ it & AT B -

(@) g (b) 18
© og W wEemw (4 10
faepe =t @
69 FifaiReer o & v Rden @1 @@ BRI —
a2 e RS
() (b) Br&T
\“)*Km (@) drsa

M

Adda247 Instagram



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://t.me/adda247live
https://www.instagram.com/adda247_testprime?igsh=bjVoNGlpeGw2a3R3

Adda

70.

71.

76.

78.
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nd Sunil are ranked seventh and eleventh
op Iin the class of

heir respective ranks

Anoopa
respectively from the t
31 students. What will be t

from the bottom in the class? .
(a) 24™ and 20*" (b) 26" and 22"

(c) 20™ and 23™ (d) 25" and 21%

Internal conflict that occurs, when people recelve

information incompatible with their value system

is known as -

(&) Cognitive
Dissonance

(c) Environmental
Dissonance

Blind and not blind is an example of -

(b) Quantitative data
(d) None of these

(b) Political Dissonance

(d) Social Dissonance

(@) Qualitative data
(c) Both (a) and (b)

Anuj is facing North-East. He turned 90° in the
cdockwise direction, then 180° in the
antidockwise and then another 90° in the same
direction. Which direction is he facing now?
(2) North —West (b) South — West
(c) South — East (d) North

This is 2 number series given below. What will bé
the next number in the series?
1.0,5,8,17. 24, ..........
() 31

() 23

(b) 35
(d) 37

- Originzlly who developed the concept of

Trzncactional Analysis’?
(2) Joseph Luft (b) Eric Berne
(©) Harrington Ingham  (d) None of the above

Y/hich one of the following is NOT a component
of listening?

(2) Percuzcion
(¢) Evaluating
If the zrea of the hac

(b) Responding
(9) Sensing

€ of a cone is increased by
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70. uw wen @ 318 ¥ oF@ R G B
SR A B rTal R AREdr § | wEr ¥ Ay
A SHT HHAL: B AT BIAT? '

(a) 24 af 3R 20ai V(?)/ézrisi'r?zzai
(c) 204 3w 23 ai ) 25 af 3% 21 ai

. aaRe o, o/ Wi Reiftr @& #RoT 90— &,
S 5 arqa arfaRe qedl @ faeg g 9
2 7 2ar 2 99 e wg § S 9 27
A s ety (b) Jorfd R
(c) gatereia g (d)wmﬁ?ﬂiﬁﬁﬂf?r

72. 3 3R e 4 UP SeERT & —

(a) THE (b) G=ATHS THD

N () 3R (b) 3 (d)%ﬁﬁaﬂ:é

73. I 1 A IR-Td BT AR 2| I8 90° TE B

ferem ¥ g, v 180° amHmEd fwm % &R R
90° ¥t feem ¥ Y| 39 98 fHw Rem @ AR
S ©7
(a) ST — uf¥=m ( — uf¥Em
o) afeT — o () SR
Tl 3ie6 s@er <1 g B | THHT ITA b DA
a1 ER? '
1,0,5,8, 17, 24, cuucec..
@3 Y0 (b) 35
(c) 33 (@) 37
75. HagER faverer Rigia 1 qoa: adwerm e
sl fsar?
(a) TRI% U () TP =
(c) BRTes gem (d) S & | B TE
76-\4?%@3*1@[&?{%&31@@%?
3T (b) wfifhar v
(¢) T[eien™ (d) wags

77, fife fari) ¥ & SR @ &G 100% aT R

100%, then the volume s increased by - I, i S e W gfy enf -

(a) 141% (b) 182% (@) 141% (b) 182%

(c) 100% () 200% (€) 100% 200%

For one possible solution aft 78, AHeTen

until a successful one s foundf:si:ﬁ::je_r o i qumﬂm '\‘mmﬂ?ﬁ g o) 8 Bk

(a) Insight (b) Guess (@) ¥gErgg (b) |

(c) Trial and Error (@) None of these \//) gaT yd e (@) F9f 9§ B AL
T~——00f16
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79 Given below are'two statements, one is labelled
" as assertion (A) and other is reason (R) -
Assertion (A) — Oral communication is a useful
channel of communication.
Reason (R) ~ Because oral communication has no
proof what has been communicated.

Select the correct answer using the code given

below -
(@) (A) is false but (R) is (b) Both (A) and ( R) are
true true and (R) is
' * correct explanation
of (A)
(©) (A)is true but (R)is (d) Both (A) and (R) are
false true but (R) is not
correct explanation
.of (A)
Refer to the statemients given below —
I. All boys are truthful.
Il. Kamal is bc-)y.

80.

Conclusion —
(1) Kamal is truthful.

9[2) Alt%t‘ruthful persons are boys. ' g
Seledk the correct answer using the code -

(b) Only (2) is correct

(@) Onlg (1)is¢ rrrect' _
""'_——_E)-H} and (2) ﬁqth are (d) Neither (1) nor (2) is

correct . correct

ﬁ?ﬁxctive reasoning is based on -

() Specificto general (b) General to specific

principle principle

(©) Both type principles (d) None of these
82.
manner -
(1) Train
(2) Car
(3) Cycle
(4) Bus
(@ 1,3,4,2 (b) 3,4,1,2
(0 1,2,3,4 03241

J@@/

Arrange the following words in the meaningful

7(‘1-7(“{

D2241153102 g LC;,E./
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)mu)aﬁr% (b) aer (2) WEY &
(¢) (1) T (2) ST wEY () =7 @ (1), 7 & (2)
g . HEI R
Wﬁm‘a{mﬁa%—

(@ fafire & W= (b) 9EH @ AR
Rigia & . frgia w

(0) B wR @ Rigiai(d) 37 ¥ B &
‘IR

‘ﬂE‘r Bl Freﬁiﬁ'cﬁ Wt w7 H
()X«
(PR
(3) wrgfer G
(4) a9 )
(@) 1,3,4%2 (b) 3,4,1,2
(© 1,2,3,4 )3,2,4,1
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. indefs
83. The semi diameters of bases of tWO,Cviiltr; =
and B are in the ratio 3:2 and their heig n

the ratio n:1. If volume of cylinder A I.s 3 times
volume of cylinder B, then valueof n is -

3 (b) 2
. : (d) 2
() 3- . 3

84, The4missing letter in the sequence Q, N, K,-?, E
is-
(@ H () L-
() p d N
85.  Which problem task is not used in animal subjects
among following?
(28) Double alternation
problem 4
(€) Anagrams (d) Puzzle box
86. 11 observations are arranged in ascending order.
If 10 and 9 are respectively the arithmetic means
of observation on even and odd places, then the
mean of all 11 observations is - 8
(@) 9.48 (b) 9.45
(©) 9.50 (d) 8.63
87 Three numbers are in the ratio of 3:4:5 and their
HCF and LCM are 40 and 2400, respectively, theh

the largest number is - lzw
(b) 360 ' Tp

(@) 40
(¢) 240 (d 200 w i
. Which one of the following is' not a type of
informal communication network?
(2) Cluster (b) Probability
() Gossip (d) Circular
8. Which type of problem was used by Kohler in
_problem solving?
(@) Verbal material

(©) Puzzle box

(b) Detour problem

(b) Detour problems

(d) None of these

80. wWhich communication network Promotes an
individual  to communicate confidential
information only with his immediate superior or
subordinate?
(a) Gossip = chain (b) Cluster - chajp
(c) Single - chain (d) Whee|— e \

91. |n the communication model, the Bro

~ putting the ideas into a message js known4g’-

(a) Decoding (b) EﬂCOding
(c) Persuasion (d) Interferenc
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8. Frifra % ¥ o @1 WS S 73] Far
& forg SuanT w18} fbar omar &7
< @) G0 BT (b) ST T WA
I
& (© Ty (d) Tl wogaT
8} 11 Yevit Y R w5 ¥ arafer fear o
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(@) 9.48 (b) 9.45
(€ 9.50 . (d) 8.63
T3] BT U 3:4:5 % Ud I& HCF ailR

LCM R 40 3R 2400 &, a7 979 wa g

&7 & —
(a) 40 ﬁf\}aﬁ,m
() 240 3%, 4 d) 200 :
88. Wﬁﬁﬁmﬁwmaﬂwﬁg
(a) \qE

(c) 9Ty
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92. Find the missing number in the following -
2,3,4,6,6,9,8,12, 10,

16,24 I 18,34,21,
(@9 (b) 21
(c) 16 (d) 15
93. Find the correct alternative for the missing
term —
ABC, 6, EFG, 210, lJK, ?
(a) 990 - (b) 999
(c) 1000 (d) 190
84. Find the odd one from the given alternatwe;‘g:
(8) FRHT - (b) JokqQ -
(c) AXCZ (d) TBVD B
5. Paralanguage is related to - ™

(@ Non-verbal
communication '
(c) Interpersonal skills

(b) Verbal
communication

(d) Downward -
communication

%. Ifthe LCM and HCF of two polynomials are (Q: 1)
(x2 + 6x + 8) and (x + 1) respectively and orje of
the polynomial is x? + 5x + 4, then the other o
(@ x2+3x+2 (b) x2—3x+2 o
© x2+2x+3 (d) x2—2x+3

7. The relation that is there between 6 and 16,
remains the same between 12 and ...............
() 29 (b) 23
© 42 (@) 34 3
%. Select the related number from the q!gen
alternatives — N
4:17::7:7
(@) 51 (b) 49
(c) 50 (d) 48
9.

If after selling 30 pens, the seller observes the
profit of sell price of 10 pens, then the p@fit
percentage is -

‘._,
(@) 200% (b) 66.67% (‘5
(c) 33.33% (d) 50% 1o

1 Nl
00. HeF of two numbers is 25 and other factors of
their LCM are 14 and 15. Sum of the numbers is -

GET IT ON
Google Play W

%. ﬁmﬁrﬁﬁrﬁ'ﬁqﬂw@nwﬁm—

2,3,4,6,6,9,8,12,10, v, 12, 18,14, 21,
16, 24
(a) 9 (b) 21
(c) 16 . (d) 15
9. gﬂqﬁiﬁﬁvmq@ﬁmmaﬁﬁm—
ABC, 6, EFG 210, UK, ?
\)M/E;QO (b) 999
(c) 1000 (d) 190
9. ﬁam?&ﬁﬂﬁﬁﬁzyﬁpnga
(@ FRHTT
(c) AXCZ .~ ~ (d) TBVD

© 85, (RIS el & —
\(;aqaﬁmﬂﬁwﬁ (b) Trferer HUgoT |

(¢) sra:aafdee Hierci (d) sl o |
q
%. ¥fy <7 9gURl B LCM 3R HCF HAW: (x + 1)

(2 + 6x+8) TAT (x+ 1) & 3R IS4 A TS 9gda
X2+ 5x + 4 1, A §ERT 98U © —

(@) x2+3x+2 (b) x2—3x+2
T(0) @+ 2x+3 (d) x2—2x + 3
7. T Wdy 6 AT 16 W B, &I Ha 12 TAT oo
~HE .
(a) 29 (b) 23
(o) 42 (d) 34

%8 fRy. 7w feeul ¥ Wi S &1 T
BT —
. IR S B Wy S

(a) 51 (b) 49
(¢) 50 (d) 48

99. Tfd Uwp fashar B 30 FeW TTH D 918 10 HARI

@ [qpd o BT ™ BT 8, @ A B Wi

¥
(a) 200% (b) 66.67%
M?..aa% (d) 50%
100. &1 HETRI W1 HCF 25 & Tl I9® LCM B 31
TS 14 3R 15 ¥ | HEsi B AT 7 -

(a) 750 (b) 775
() 750 (b) 775 1 RS R
(©) 700 (d) 725 {}y
q}f’ """""" - 2\o Bue
T}’U " \\‘0’ ____________________________ e 0
L T

--_-__‘__'_—'———__
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